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1. [lepeyeHb KOMIETEHIIMI C YKA3aHUEM ITANOB UX ()OPMHUPOBAHUSA U ONMCAHUE MOKA3aTeJ el 1 KPpUTEPUEB OLIEHUBAHUS KOMIIeTEHIIMA HA
PAa3JIMYHBIX 3Tanax ux GopMHPOBAHNS, ONIMCAHNE LKA OLleHUBAHUS

dopmupyemas Pe3syabTaTsbl IToka3aTeu 1 KpUTEPUN OLIEHUBAHUS Pe3yJIbTATOB 00y4YeHH sl 10 JUCHUIINHE Bun
KOMIIeTeHI U (¢ 0o0yueHus mo (Moay10) OLIEHOYHOI 0
yKa3aHHeM Ko0/a) AUCHUILINHE cpeacTBa
(MoayJ110)
1 2 3 4
Hey/. YIOBJI. X0pOo10 OTJIMYHO
CrocoOHOCTRIO K 1 oran: 3nanus | He Bnageer Bnaneer naBeikamu  Brageer Bnaneer naBbikamu Y CTHBIN OIIPOC
KOMMYHUKAIINH B HaBbIKaMU JTUTEepaTypHOU U HaBbIKAaMU COCTaBIICHUS
YCTHOU H JIUTEPaTypHOU U JIEII0BOU JIOTUYECKH BEPHO, = MPOPECCHOHATBHO-
NUChbMEHHOU (hopMax JIeIIOBOM MUCHbMEHHOU U apryMEHTHPOBAHO = OPHUEHTUPOBAHHBIX
HA PYCCKOM U MMUCbMEHHOU 1 YCTHOU 51 51
MHOCTPAHHOM $SI3bIKaX YCTHOM peuu Ha U SICHO CTPOUTH HAyYHBIX TEKCTOB
JUIA peleHus 3a1a4 peun Ha MSI; Hay4HBIM, YCTHYIO U Ha
MEXIJINYHOCTHOTO U Hay4YHBIM, NyOMUIIMCTUYECKUM  MUCHBMEHHYIO W S1; naBbikaMu
MEXKYJIbTYPHOTO NyOIUIIUCTUYECKUM U peub; CO3/1aHUS
B3aMMOJEICTBUSA u JIEJIOBBIM CTUJISIMU HaBbIKAMH pedepara,
(OK-5) JIEJIOBBIM CTUIISIMU W3JI0KECHUS. MyOIMYHBIX 0030pHOM CTaThH,
U3JI0KEHUS. BBICTYIUICHUN 1 aHAJINTUYECKOU
pPEUeBOro 3TUKETA; = CTaThU IO

2 srar: YMeHus

He 3HaeT ocHOBHBIE
KaTeropuu 1

3HaeT OCHOBHBIE
KaTeropuu u

3HaeT 0a30BBIE
MIPEJICTABJICHHSI O

3aJJaHHOM TeMe;
BJIaJIceT HaBBIKAMH
COCTaBJICHUS
JICII0BOM
JIOKYMEHTAIUU;
HaBBLIKAMH
OCO3HAHHOTO
YTCHHS.

3HaeT rpaMMaTHKYy,

opdorpaduto,

Kontponbnas
pabota

3



3 sram:
Bnanenus
(HaBBIKH / OTIBIT
NESATEITLHOCTH)

MOHSATHSA,
OIHCHIBAIOLINE
JIOTUYECKH BEPHYIO,
apryMEeHTHUPOBAHHYIO

U SICHYIO YCTHYIO U
MACbMEHHYIO PEYb.

He ymeer
HCII0JIb30BaTh
rpaMMaTHKYy,
opdorpaduto,
JIEKCUKY U
CTUJIMCTUKY

WA na yposne,
o0ecreynBaroEeM
IIOCTPOEHHE
JIOTUYECKHU
BEPHOM YCTHOM U
MMMCbMEHHOU PEUH.

MOHSTHS,
OTHCBHIBAIOIIUE
JIOTUYECKU BEPHYIO,
apryMeHTUPOBAHHYIO

U SICHYIO YCTHYIO U
[ACbMEHHYIO PEYb.

YMeer ucronb30BaTh
IrpaMMAaTHKY,
opdorpadmuto,
JEKCUKY U
CTUJTUCTUKY

WA na yposne,
o0ecrneynBaroIieM
IIOCTPOCHHE
JIOTUYECKH

BEPHOH YCTHOHN U
MUCbMEHHOW pEUH.

MOCTPOCHUU
YCTHOU U
IMMCHbMEHHOM
peun.

YMeer cTpouTh
CBOIO

pedb, creays
JIOTHKE
pacCyXJIeHUU U
BBICKa3bIBaHUH;
apryMEHTHPOBAHO
U SICHO OTCTaWBaTh
CBOIO

TOYKY 3pEHUS,
BBIpAXKaTh

1 000CHOBBIBATH
CBOIO

TTO3UITHIO.

JIEKCUKY
u ctuiuctuky U
Ha

YpOBHE,
obecreynBaroem
MOCTPOCHUE
JIOTUYECKH
BEPHOH yCTHOM

Y MIMCbMEHHOM
peun;

OCHOBBI KYJBTYpPBI
peun.

Ywmeer
apryMeHTHPOBAHO
U SICHO U3JlaraTh
MBICIIH;
BBITIOJIHSTH 33JJaHUS
o

0000111eHHIO,
aHaNu3y,
BOCITPHUSITHIO
uHpOpMaINH;
JIOTUYECKH

BEPHO

"
apryMeHTUPOBAHO
BBICTPOUTH
MMHCbMEHHBIN
TEKCT; BECTH
JIAaJIor.

ITepeBon u
AHHOTHUPOBAHUE
TEKCTOB T10
CHEINAIbHOCTH




2. KoHTpoJIbHBbIE 32/1aHUSI UJIM HHBbIE MATEePHAJIbl, He00X0AMMBbIE /1JIs1 OLeHKN 3HAHM,
YMeHUii, HABBIKOB U (MJIM) ONbITA JeITEJIbHOCTH, XapPAKTEePHU3YIOINX ITANbI
(popMupoBaHus KOMIIeTEHIIM B IIpollecce 0CBOCHUS 00pa30BaTeILHO MPOrPaMMbl

KoHTposibHBIE pabOTHI 17151 OLICHKH YpOBHS chopmupoBaHHOCTH KomneTeHIun OK-5 Ha
JTare «3HaHuIY:

Konrponsnas padora Nel

Circle the correct answer.

1. The life......... of insects starts when they are larva.
A. Cycle

B. Field

C. Vacuum

2. In the 18 th century living things were ......... into biological families.
A. Treated

B. Stated

C. Classified

3. The biological information passed on to us from the previous generation is our ..........
A. Inheritance

B. Observation

C. Principle

4. Charles Darwin is famous for ......... the idea of natural selection.
A. Disproving

B. Adapting

C. Formulating

5. Itwasreally small —a ..........

A. Pollen

B. Microorganism

C. Crop

6. They’ll take a ......... of your blood for testing.

A. Sample

B. Injection

C. Vaccine

7. He was immunized to have ......... to diseases.

A. Recovery

B. Application

C. Resistance

8. It is a fact that substances cannot change their ..........
A. Conservation of mass

B. Combustion

C. Accurate

D. Alchemists

E. Matter

F. Quantity

G. Breakthrough

H. Properties

9. e means that no matter how a substance is changed, what it is made up of will
always stay the same.

A. Conservation of mass

B. Combustion



C. Accurate

D. Alchemists

E. Matter

F. Quantity

G. Breakthrough

H. Properties

10. When scientists make a ......... they succeed after trying very hard.
A. Conservation of mass

B. Combustion

C. Accurate

D. Alchemists

E. Matter

F. Quantity

G. Breakthrough

H. Properties

11. Without oxygen there cannot be .......... — things cannot burn.
A. Conservation of mass

B. Combustion

C. Accurate

D. Alchemists

E. Matter

F. Quantity

G. Breakthrough

H. Properties

12. Mendeleev’s table classifies the elements found in nature according to their ..........
A. Conservation of mass

B. Combustion

C. Accurate

D. Alchemists

E. Matter

F. Quantity

G. Breakthrough

H. Properties

13. Dalton believed the atom to be

A. An element

B. Made of smaller particles

C. The smallest possible particle

D. His own idea

14. The number of protons in an element
A. Is the same as the number of electrons
B. Is always six

C. Never changes

D. Characterizes the element

15. Electrons help

A. Protons to form elements

B. Atoms to be neutral

C. Molecules to become atoms

D. Atoms to form molecules

Konrponbnas padora Ne2

Circle the correct answer.



1. Hydrogen is

A. The simplest atom there is.

B. Present in all atoms

C. The oldest atom

D. As common as helium

2. If something follows a ......... then it acts in a similar way over a period of time.
A. Concept

B. Proportion

C. Pattern

3. The rate of chemical reaction

A. Depends on different factors

B. Is very fast for metals

C. Is always the same.

4. The metal zinc

A. Is more reactive than magnesium
B. Reacts more slowly than magnesium
C. Is less reactive than copper.

5. Scientists use ......... to make measurements.
A. Calculations

B. Estimations

C. Equations

6. The molecules are in .........

A. Movement

B. Motion

C. Activity

7.A()......... is a mathematical statement that shows two expressions are equal
A. Estimation

B. Calculation

C. Equation

8. A machine is a mechanical ...

A. Gadget

B. Device

C. Appliance

9. We can make electricity by

A. Exerting a force

B. Creating electromagnetic fields
C. Charging particles

D. Moving particles

10. Electrical and magnetic fields
A. Are opposites.

B. Are two very different things

C. Are very closed related

D. Need a conductor

11. Maxwell’s equations

A. Corrected the theory of motion
B. Caused scientists to rethink

C. Rewrote older theories

D. Have completely ensured the theory of motion now
12. The electric battery

A. Could operate a machine

B. Could create an electric current



C. Was invented by Faraday

D. Was invented in 1800

13. Bohr’s principle says

A. Properties can only be experienced separately
B. Electrons are definitely waves and particles.

C. Properties can only disagree.

D. An electron is actually a particle.

14. Einstein received the 1921 Nobel Prize

A. Because of his discovery of relativity

B. Because his theories overturned Newton’s Law
C. Because of his earlier work

D. Because of his contributions to world peace
15 ... is a branch of electronics involving devices for electromagnetic radiation.
A. Optoelectronics

B. Cartography

C. Hydrodynamics

3. MeToanueckue MaTepHuaJibl, ONpeAe/sioue Npouelypbl OLeHUBAHUS 3HAHUI, YMEHUIA,
HABBIKOB M (MJIM) ONBITA JeSITeJILHOCTH, XaPAKTePU3YIOIIUX 3TAnbl GOPMUPOBAHNS
KOMIIETEHIIN A

KonTtpouabHasi padora BeinonHseTcs nucbMeHHO. OHa MOXKET MPOBOAUTHCSA B Pa3HbBIX
dbopMax: TecTUpOBaHUE, PEIICHHE MPAKTUIECKON 3a/]aui, OTBET Ha IPOOIEMHBIN TeOPEeTUUECKHIA
BOIIPOC U JIp.

IIpumep BapuaHTOB KOHTPOJIbHOI PadoThI
1 cemectp

1. Fill in the table of classification of consonants.

According to the degree of noise Noise Consonants Sonorant
Occlusive | Constrictiv | Occlusive | Occl | Con

According to the of articulation (stops, e constrictive | usiv | stric
plosives) (affricates) e tive

According to the work of the Vor | Voi | Voi | Vol | Vol | Vol
ced | cele | ced | cele | ced | cele

vocal cords

sS SS ss

According to the force of Wea | Stro | Wea | Stro | Wea | Stro

articulation Kk ng Kk ng | k ng

Acc Bilabial

ordi | Labi

ng al .

to Labio-dental

the inter | apic

plac

eof | Ling Fore | dent | al

. ling al

artic | ual

: ual
ulati




on dent | apic
al al
alve | apic
olar al
post ca
- cum
alve | inal
olar
palat | apic
0- al
alve
olar
Med | palat
io- al
ling
ual
back | vela
- r
ling
ual
Glottal
According to the position Oral Nas | Oral
of the soft palate al

2. Define types of assimilation:

1) newspaper

2) girls

3) good concert

4) good pen

5) What do you want?

6) happen

7) In case you need it

8) table

9) cut this

10) that chamber

11) She wouldn’t do it

12) that time

13) true

14) squirrel




2 cemecTp
3. Translate the terms from Russian into English:

['macHbIil nepenHero psijga, TJIaCHBIA MEPENHEro psjia, OTOJABUHYTHIM Ha3zajd, TJIaCHBIN
3aJIHETO Psla, TJIACHBIM CPEIHETO psla, JIaTepajbHBIM B3PBIB, INIACHBIA BBICOKOTO IMOIBEMA,
IJTACHBIA HU3KOTO TMOJbEMa, TJIACHBIH CPETHEro MoJbeMa, TJIACHBIM ITUPOKOW Pa3HOBUIHOCTH,
HOCOBasl IOJIOCTh, POTOBAs IMOJIOCTh, IJIOTKA, 3€B, TOJIOCOBLIC CBS3KH, TOPTaHb, KOHYHK SI3bIKA,
MepPEIHS YacTh SI3bIK, CPEIHSIS YaCTh SA3bIKa, TOJI0COBAs 11Eb, OT'yOJIEHHBIHN 3BYK.

4. Explain what the Low Fall (the Low (Medium) Fall pitch-and-stress group) is.
5. Intone the following sentences, define types of sentences and write the attitude:

Pattern: (Low Pre-Nucleus+) Low Fall (+Tail)

Stimulus: I think you’ll like it.

Response: WILL 1?

Sentence type:

Attitude:

Pattern: (LowPre-Head+) Falling Head + Low Fall (+ Tail)
Stimulus: When can you come?

Response: | think I shall be free on TUESDAY.

Sentence type:

Attitude:

Pattern: (Low Pre-Head+) Low-Level Head + Low Fall (+ Tail)
Stimulus: I’ve lost my invitation.

Response: How did you manage to do THAT?

Sentence type:

Attitude:

Pattern: (Low Pre-Head +) Sliding Head + Low Fall (+ Tail)
Stimulus: You have a lecture at five.

Response: Well, don’t forget to REMIND about it.
Sentence type:

Attitude:

Pattern: High Pre-Nucleus + Low Fall (+ Tail)

Stimulus: I’ve forgotten to tell her.

Response: Does it MATTER all that much?

Sentence type:

10



Attitude:

6. Explain what the High Fall (the High Fall pitch-and-stress group) is:
7. Intone the following sentences, define types of sentences and write the attitude:

Pattern: (Low Pre-Head) + Falling Head + High Fall (+ Tail)
Stimulus: No, that’s quite the wrong one.
Response: Does it really make very much DIFFERENCE?
Sentence type:
Attitude:
Pattern: (Low Pre-Head)+ Rising Head + High Fall (+ Tail)
Stimulus: He says he knows nothing about it.
Response: | distinctly remember TELLING him.
Sentence type:
Attitude:
Pattern: (Low Pre-Head) + Stepping Head + High Fall (+ Tail)
Stimulus: How far is it?
Response: All depends which way you GO.
Sentence type:
Attitude:
Pattern: (Low Pre-Head)+ Climbing Head + High Fall (+ Tail)
Stimulus: He says he won’t agree.
Response: What an extraordinary thing to DO!
Sentence type:
Attitude:
Pattern: (Low Pre-Head)+ Scandent Head + High Fall (+ Tail)
Stimulus: I’'m going to try again.
Response: Whatever do you hope to gain by THAT?
Sentence type:
Attitude:
Pattern: High Pre-Nucleus + High Fall (+ Tail)
Stimulus: Would you like to join us?
Response: 1’d simply LOVE to.
Sentence type:

11



Attitude:

3 cemectp

Transcribe, intone, underline phonetic phenomena in the following dialogues:

Mum’s Crumpets ‘

Jim: \ Mum, may Tom Mitcham come home with me for tea tomorrow?

Mrs. Smith: Of course, Jim. Have | met Tom before? |

Jim: \ You met him in the summer. He's very small and smart.

Mrs. Smith: Oh, yes. | remember Tom. Does his family come from Cambridge?

Jim: Yes. Oh, Mum! Will you make some home-made crumpets
tomorrow? \

Mrs. Smith: Mm ... maybe. If | have time.

Jim: | told Tom about your crumpets, Mum. That's why he's coming
for tea tomorrow!

Noisy Neighbours

Mr. Pring: (angrily). Bang! Bang! Bang! What are the Kings doing at seven o'clock on Sunday
morning?

Mrs. Pring: Well, Mr. King is singing.
Mr. Pring: Yes, but what's the banging noise?

Mrs. Pring: (looking out of the window) He's standing on a ladder and banging Some nails into
the wall with a hammer. Now he's hanging some strong string on the nails.

Mr. Pring: And what's Mrs. King doing?

Mrs. Pring: She's bringing something pink for Mr. King to drink. Now she's putting it under the
ladder, and... Ohh!

Mr. Pring: What's happening?Mrs. Pring: The ladder's falling.Mr. Pring: What's Mr. King doing?

Mrs. Pring: He's hanging from the string. He's holding the string in his fingers and he's shouting
to Mrs. King.

Mr. Pring: And is she helping him?

Mrs. Pring: No. She's running to our house. Now she's ringing our bell.Mr. Pring: I'm not going
to answer it. I'm sleeping.

12



4 cemecTp
Transcribe, intone, underline phonetic phenomena in the following dialogues:

Twenty Foreign Visitors

Wilma: What are you giving your foreign visitors on Wednesday evening, Winnie? How many —
twelve, is it?

Winnie: Twenty. Twelve of William’s Swedish representatives, eight of them with their wives.
Wilma: And what will you feed them on?

Winnie: Well, we’ll start with watercress soup, then fish in a white wine sauce flavored with
fennel and chives, followed by stuffed veal served with cauliflower and a very wide variety of
vegetables.

Wilma: Mmm... My mouth’s watering!

Winnie: For sweet we’ll have fresh fruit soufflé covered with walnuts. And lots of whipped
cream, of course, and vanilla wafers.

Wilma: And finally coffee? What a feast! | wish | was going to be with you!

Making a Pass at Martha

C.: The dance doesn’t start till half past, Martha. Let’s park the car under the arch
by Farmer Palmer’s barn. It’s not far. Ah, here we are. There’s the farm cart.
M.: Ooh, Charlie, it’s dark!

C.: The stars are sparkling. My heart is enchanted. Martha, you are marvellous!
M.: Your father’s car is draughty. Pass me my scarf.

C.: Rather let me clasp you in my arms, Martha, my darling.

M.: Ah, Charlie! Your moustache is all nasty and sharp. I can’t help laughing.
Aren’t you started? Here, have half a Mars Bar. Ssh! There’s a car passing.

C.: Keep calm, can’t you? It’s only Sergeant Barker. He plays darts in the bar of
the Star and Garter. Martha... darling...

M.: Don’t be daft, Charlie! You can’t start making a pass till after the dance!

13



Pesynbrarhl 00ydeHHs] MO AUCIUIUIMHE (MOAYJI0) y OOYYalOMIMXCSl OIICHHBAIOTCS IO
UTOTaM TEKYILEro KOHTPOJS KOJIMYECTBEHHOW OLIEHKOM, BBIPQ)KEHHON B PEHTHHIOBBIX Oaliax.
OrneHke NOJICKUT Kaxa0€ KOHTPOJIIbHOE MEPOTIPUSITHUE.

[Tpu oneHnBaHUM CHPOPMUPOBAHHOCTH KOMIETCHIIMIA MPUMEHSIETCS YETHIPEXypPOBHEBAS
HIKaJIa «HEYAOBIETBOPUTEIBHOY, «YIOBIETBOPUTEIHHOY, «XOPOIIOY», «OTIMUHO.

MaxkcumanbHbI 0ayl MO0 KaXJOMYy BHIY OIICHOYHOTO CPEACTBA OIPENENseTCs B
peiftunr-miane u Beipaxkaet noiaHoe (100%) ocBoeHne KOMIETEHIIUH.

VYpoBeHb Cc(HOPMUPOBAHHOCTH KOMIETECHIIMH «XOpPOILIO» YCTAaHABJIMBACTCS B ciydae,
Korjia 00beM BBITIOJHEHHBIX 3aJJaHHI COOTBETCTBYIOIIETO OILIECHOYHOTO cpesicTBa cocraisieT §0-
100%; «ynoBieTBOpUTENbHO» — BbINOJIHEHO 40-80%); «HEYAOBIETBOPUTEIBHO» — BBIIIOJIHEHO 0-
40%

PeliTuHroBbIii Oayul 32  BBINOJHEHHE YacTH WM IOJHOrO o0beMa  3aJaHuit
COOTBETCTBYIOILIETO OLICHOYHOI'O CPEJICTBA BBICTABIsIETCS 110 hopMyIie:

Petitunrossrii 0aiut = k x MakcuMalnbHBIA Oai,
rae k = 0,2 mpu ypoBHE OCBOCHHS «HEYIOBIETBOPUTENbHO», k = 0,4 mpu ypoBHE OCBOEHUS
«ynoBieTBopuTenbHO», k = 0,8 ipu ypoBHE ocBOeHUS «xopomio» u k = 1 pu ypoBHE OCBOCHUS
«OTJIMYHOY.

OneHka Ha 3Tarne NPOMEKYTOYHOW aTTecTallMM BbICTaBiseTcs coryiacHo llonoxkeHuto o

MOJ1yJIbHO-PEHTHUHTOBOI cucTeMe 00y4YeHUs U OLEHKU yCIIeBaeMOCTH cTyieHToB baml'V:

Ha skx3ameHe BbIcTaBiIsIeTCS OLICHKA:

* OTJIMYHO - 1TpH HakorieHuH oT 80 10 110 peliTuHroBeIX 6auioB (BkiIrovas 10 moompuTeIbHbIX
06ayioB),

* XOPOIIIO - TPH HaKOIUIeHUH oT 60 10 79 peUTHHTOBBIX 0AJLIOB,

* YIOBJIETBOPUTEIHHO - IIPH HAKOTUICHUH OT 45 110 59 pedTHHTOBBIX OaJLIOB,

* HEY/IOBJICTBOPUTEIILHO - IIPH HAKOIJICHUH MeHee 45 pedTHHTOBBIX OaJlioB.

Ha 3auere BbIcTaBIsieTcs OLEHKA:!

* 334TEHO - IpH HakorieHuH oT 60 10 110 pelTHHroBBIX O0amuIoB (BKIOYas 10 mMOOUIpUTEIBHBIX
6aiioB),

* HE 3aYTEHO - MpU HaKomiIeHUuH oT 0 10 59 peUTUHTOBBIX OANIIOB.

[Ipu nonydeHnH Ha dK3aMEHE OLIEHOK «OTJIMYHOY, «XOPOLIO», «yI0BIECTBOPUTEILHOY, HA
3auéTe OIIEHKHU «3aUTEHO0» CUUTAETCS, YTO Pe3yNbTaThbl OOyUeHHUs MO AUCHUILTUHE (MOIYJIIO)
JIOCTUTHYTHI U KOMIIETCHIIUHU Ha 3Tare U3y4eHUs TUCHUTLTAHBI (MOYJIs1) C(hOPMUPOBAHBI.
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